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MGA’S FISCAL UPDATE 

LOOKING AHEAD FY19 BUDGET PRIORITIES

1. Support Academic Plan and Momentum Year;
2. Support Enrollment Growth; 
3. Blended Function Support; 
4. Support Technology / Institutional Research Offices; 

and  
5. Support and retain talented faculty and staff. 

 

MGA’S BUDGET SERVICES MISSION: Budget Services provides the President and members of Cabinet with critical budgetary and financial 
information regarding the university’s activities in order to make sound financial decisions to meet the goals and mission of the university. 
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Where does the money go?
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Where does the money       
come from?
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